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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk      

iz'u 21 gSaA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

21 questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 

Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : B 
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• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 
entertained after examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %     

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

 (ii) bl ç'u-i= esa dqy 21 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa % v] c] v] c] v] c] v] c] 

llll rFkk nnnn    esa foHkDr  gSaA 

 (iii) [k.M &[k.M &[k.M &[k.M & vvvv ds iz'u la[;k 1 esa pkSngpkSngpkSngpkSng (i-xiv) oLrqfu"B 

iz'u gSaA iz'u (i) ls (v) rd cgqfodYih; iz'u gSaA izR;sd 

iz'u esa pkj fodYi fn, x, gSa ftlesa ls lghlghlghlgh fodYi dk 

p;u dhft,A iz'u (vi) ls (xiv) rd izR;sd dk mÙkj ,d,d,d,d 

;k nksnksnksnks 'kCnksa ;k okD;ksa esa nhft,A izR;sd iz'u 1 vad dk 

gSA 

 (iv) [k.M[k.M[k.M[k.M &&&& cccc esa iz'u la[;k 2 ls 11 rd vfr-y?kwÙkjkRed 

iz'u gSaA izR;sd iz'u ds 2 vad gSaA 

 (v) [k.M &[k.M &[k.M &[k.M & llll esa iz'u la[;k 12 ls 18 rd y?kwÙkjkRed iz'u 

gSaA izR;sd iz'u ds 3 vad gSaA 

 (vi) [k.M[k.M[k.M[k.M    &&&& nnnn esa iz'u la[;k 19 ls 21 rd nh?kZ mÙkjkRed 

iz'u gaSA izR;sd iz'u ds 5 vad gSaA 
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 (vii) [k.M[k.M[k.M[k.M    &&&& nnnn ¼nh?kZ mÙkjkRed iz'u½ ds nksnksnksnks iz'uksa esa vkUrfjd 

fodYi miyC/k gSA ,sls iz'uksa esa ls vkidks nh x;h NwV esa 

ls dsoy ,d,d,d,d gh iz'u djuk gSA 

General Instructions :        

 (i) All questions are compulsory. 

 (ii) This question paper contains 21 questions, 

which are divided into four Sections : A, B, 
C  and D. 

 (iii) Section – A contains question number 1 

having fourteen (i-xiv) objective type questions. 

Question from (i) to (v) multiple choice type 

questions. Each question carries four options, 

from which choose the correct option. The 

answer of each question from (vi) to (xiv) may be 

given in one or two words or sentences. Each 

question carries 1 mark. 

 (iv) Section – B contains question numbers 2 to 

11 of very short answer type questions and 

carry 2 marks each. 
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 (v) Section – C contains question numbers 12 to 
18 of short answer type questions and carry 
3 marks each. 

 (vi) Section – D contains question numbers 19 to 
21 of long answer type questions and carry 
5 marks each. 

 (vii) Internal choice is available in two questions 
of Section-D (Long Answer Type Questions). 
You have to attempt only one of the given 
choice in such questions. 

[k.M[k.M[k.M[k.M – vvvv    

SECTION –  A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

  1. (i) fuEufyf[kr esa ls dkSu&lk fodkj ¼flaMªkse½ cgqxqf.krk dk 
mnkgj.k gS \ 1 

  (A) Mkmu 

  (B) DykbuQsYVj 

  (C) VuZj 

  (D) buesa ls dksbZ ugha 
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  Which of the following syndrome is an 

example of polyploidy ? 

  (A) Down 

  (B) Klinefelter 

  (C) Turner  

  (D) None of these  

 (ii) 200 fefy;u o"kZ iwoZ laHkor% eNyh tSlk ljhl`i ds :i 

esa dkSu&lk izdV gqvk \   1 

  (A) VkbjSukslksjl  

  (B) bfDFk;kslksjl 

  (C) iSfydkslksjl 

  (D) buesa ls dksbZ ugha  

  Which fish like reptile evolved probably 

200 mya ? 

  (A) Tyrannosaurus 

  (B) Ichthyosaurs 

  (C) Pelycosaurs 

  (D) None of these  
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 (iii) fuEu esa ls fdl vehuks vEy dk dsoy ,d vkuqoaf'kd 

dwV gksrk gS \   1 

  (A) XywVkekbu 

  (B) fVªIVksQku 

  (C) ,Lisjkthu 

  (D) vkblksY;wflu 

  Which of the following amino acid has only 

single genetic code ? 

  (A) Glutamine 

  (B) Tryptophan 

  (C) Asparagine 

  (D) Isoleucine 

 (iv) nwr vkj ,u , (mRNA) dks dkSu vuqysf[kr djrk     

gS %    1 

  (A) vkj ,u , ikWyhejst+ I 

  (B) vkj ,u , ikWyhejst+ II 

  (C) vkj ,u , ikWyhejst+ III 

  (D) Mh ,u , ikWyhejst+ 
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  mRNA is transcribed by : 

  (A) RNA polymerase I 

  (B) RNA polymerase II 

  (C) RNA polymerase III 

  (D) DNA polymerase 

 (v) fuEu esa ls dkSu&lk vlaØked jksx gS \ 1 

  (A) dSalj  

  (B) ,M~l 

  (C) (A) vkSj (B) nksuksa 

  (D) fjaxoeZ 

  Which of the following is a non-infectious 

disease ? 

  (A) Cancer 

  (B) AIDS 

  (C) Both (A) & (B) 

  (D) Ringworm 
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 (vi) mu oSKkfudksa dk uke fyf[k, ftUgksaus oa'kkxfr dk 

Øksekslkse fl)kUr fn;kA   1 

  Name the scientists who gave chromosomal 

theory of inheritance. 

 (vii) fj;ks&fM&tsusjks esa i`Foh lEesyu fdl o"kZ esa gqvk    

Fkk \    1 

  In which year the Earth Summit was held 

in Rio-de-Janeiro ? 

 (viii) ifjHkzw.kiks"k fdls dgrs gSa \ ;g fdu chtksa esa ik;k tkrk 

gS \    1 

  What is perisperm ? In which seeds it is 

present ? 

 (ix) ^ck;ksikbjslh* fdls dgrs gSa \  1 

  What is 'Biopiracy' ? 

 (x) ltkriq"ih ijkx.k D;k gS \   1 

  What is Geitonogamy ? 

 (xi) ^iksesVks* D;k gS \   1 

  What is 'Pomato' ? 
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 (xii) ,M~l ds O;kid:i ls dke esa yk;k tkus okyk dkSu&lk 

uSnkfud ijh{k.k fd;k tkrk gS \  1 

  Which diagnostic test is widely used to 

detect AIDS ? 

 (xiii) VkbQkWbM ds jksxtud dk uke fyf[k,A 1 

  Name causative organism of Typhoid. 

 (xiv) IRRI dks foLrkfjr dhft,A   1 

  Write the full form of IRRI. 

[k.M[k.M[k.M[k.M – cccc    

SECTION –  B 

¼vfr¼vfr¼vfr¼vfr-y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½y?kwÙkjkRed iz'u½    

(Very Short Answer Type Questions) 

  2. cká fu"kspu ds ykHk vkSj gkfu;k¡ D;k gSa \ 2 

 What are the advantages and disadvantages of 

external fertilization ? 
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  3. ijthoksa dh fofHkUu vuqdwyrk,¡ D;k gSa \  2 

 What are the various adaptations of parasites ? 

  4. ekbdksjkbt+k D;k gS \ blds mi;ksx D;k gSa \ 2 

 What is mycorrhiza ? What are its uses ? 

  5. ck;ksdsfedy vkWDlhtu fMekaM ¼ch vks Mh½ D;k gS \ ;g D;k 

n'kkZrk gS \ 2 

 What is Biochemical Oxygen Demand (BOD) ? 

What does it indicate ? 

  6. f=&lay;u D;k gS \ ;g dgk¡ vkSj dSls laiUu gksrh gS \ 

f=&lay;u eas lfEefyr U;wfDyvkbZ dk uke crkb,A 2 

 What is triple fusion ? Where & how does it take 

place ? Name the nuclei involved in triple fusion. 

  7. iSfyaMªkse D;k gSa \ ,d mnkgj.k lfgr O;k[;k dhft,A 2 

 What are palindromes ? Explain with an 

example. 
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  8. vkuqoaf'kd fufeZr yfldk.kqvkasa }kjk ,sfMukslhu fM,sehust+ U;wurk 

ds mipkj ds ckjs eas fyf[k,A 2 

 Write about the treatment of adenosine 

deaminase deficiency by genetically engineered 

lymphocytes. 

  9. iqu;ksZxt Mh ,u , dks ijiks"kh dksf'kdkvksa esa izos'k djkus dh 

lw{evar%{ksi.k ¼ekbØksbatsD'ku½ vkSj ck;ksfyfLVd fof/k D;k   

gS \  2 

 What is the microinjection and biolistics method 

to introduce the recombinant DNA into the host 

cells ? 

10. lQy e/kqeD[kh&ikyu ds fy, vR;ar egÙoiw.kZ fcanq dkSu&ls 

gSa \  2 

 What are the important points for successful 

Bee-keeping ? 

11. viw.kZ izHkkfork vkSj lgizHkkfork D;k gS \ 2 

 What is incomplete dominance and co-

dominance ? 
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[k.M[k.M[k.M[k.M – llll    

SECTION – C 

¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½¼y?kwÙkjkRed iz'u½    

(Short Answer Type Questions) 

12. ty eas izkFkfed vuqØe.k dk o.kZu dhft,A  3 

 Describe primary succession in water. 

13. izkd`frd oj.k dk 'kyHk ¼eksFk½ ds mnkgj.k lfgr o.kZu dhft,A3 

 Explain natural selection with an example of 

moth. 

14. fdlh {ks= dh tSo fofo/krk dh gkfu gksus ds D;k ifj.kke gksrs 

gSa \  3 

 What are the consequences of loss of biodiversity 

in a region ? 

15. ikjthoh tarqvksa ¼Vªkal~tsfud ,fueYl½ dh tSfod mRikn esa 

Hkwfedk dk o.kZu dhft,A 3 

 Explain the role of transgenic animals in 

biological products. 
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16. rackdw ds lsou ds gkfudkjd izHkko D;k gSa \ 3 

 What are the harmful effects of using Tobacco ? 

17. ekWxZu ds dk;Z ds fy, MªkslksfQyk esyuksxSLVj D;ksa mi;qDr ikbZ 

xbZ \  3 

 Why Drosophila melanogaster was found 

suitable for Morgan's work ? 

18. fofHkUu var%xHkkZ'k;h ;qfDr;ksa ¼bUVªk&;wVsjkbu fMokbl ¼vkbZ ;w Mh½ 

dk o.kZu dhft,A 3 

 Describe various Intra-Uterine Devices (IUD). 

[k.M[k.M[k.M[k.M – nnnn    

SECTION –  D 

¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½¼nh?kZ mÙkjkRed iz'u½    

(Long Answer Type Questions) 

19. 'kSoky izLQqVu D;k gS \ blds izHkko fyf[k,A 5 

 What is Algal bloom ? Write its effects. 
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vFkokvFkokvFkokvFkok    

OR    

    xzhu gkml izHkko dk o.kZu dhft,A   5  

 Describe Green House Effect. 

20. Mh ,u , dh ikWyhU;wfDy;ksVkbM Ük`a[kyk dh jklk;fud lajpuk 

dk o.kZu dhft,A 5 

 Describe the chemical structure of a 

polynucleotide chain of DNA. 

vFkokvFkokvFkokvFkok    

OR    

    g"ksZ vkSj psl iz;ksx dk o.kZu dhft,A ftlus fl) fd;k fd 

Mh ,u , vkuqoaf'kd inkFkZ gSA   5 

 Describe Hershey-Chase experiment to prove 

that DNA is the genetic material. 
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21. Lru xzafFk dk vkjs[kh; dkV dk ukekafdr fp= cukb,A bldh 

lajpuk dk o.kZu dhft,A 5 

 Draw a well labelled diagrammatic sectional view 

of mammary gland. Describe its structure. 

! 


